
(1)AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2011
Class : III

Time/a]Ì̂  : 2 hours/ H³RôOç Full Marks/ ]ÇPö X=‘ö» / å]çOô X¶‘öÌ[ý f (30+30+40)=100

General Knowledge / açWýç»S pûçX / açWýçÌ[ýS pûçX

1. The living creature first sent into space is :
ãEõçX YÒçSÝEõ YÒUã] ]c÷çEõç`ê_ Y×PöC¾ç éc÷×$K÷_ ?
]c÷çEõçã` æYÒÌ[ýS EõÌ[ýç YÒU] YÒçSÝ ?
(a) Dog (b) Rabbit (c) Monkey (d)   Goat

EÇõEÇõ» `c÷çY§ [ýç³V» $K÷çG_Ý
EÇõEÇõÌ[ý FÌ[ýãGç` [ýçXÌ[ý »K÷çG_

2. The tip of the tongue is used for tasting ……………
×L\öç» a¶ö‚ÇF» %e` ............ åaç¾çV _[ýê_ [ýî¾c÷ç» c÷Ì̂  ?
×Lâ¼÷çÌ[ý %GÐ\öçG ................ Ø‘öçV åXCÌ̂ çÌ[ý LXî [ýî[ýc÷ÖTö c÷Ì̂  ?
(a) Sour (b) Bitter (c) Sweet (d) None of these

æOôIøç ×TöTöç ×]Pöç AOôçC Xc÷Ì^
OôEõ ×TöTöç ×]×rô AEõ×OôC XÌ^

3. The "Brahmaputra" is also Known as :
[ýÐ¡ùYÇyEõ ............ [ýÇ×_C LXç ̂ çÌ̂ *
[ýÐ¡ùYÇyãEõ .............. Xçã]C LçXç ̂ çÌ̂ *
(a) Ganga (b) Yamuna (c) Mahabahu (d) Mahanadi

G†ç ^]ÇXç ]c÷ç[ýç§ ]c÷çXVÝ

4. The Vrindaban Garden is located in -
[ýÊ³Vç[ýX GçãQïöX Eõ'Tö %¾×ØšöTö ?
[ýÊ³Vç[ýX GçãQïöX åEõçUçÌ̂  %[ý×ØšöTö ?
(a) Mathura (b) Manali (c) Mysore (d) Mohali

]UÇ»ç ]çXç_Ý ]c÷Ý É̀» å]çc÷ç_Ý
]UÇÌ[ýç ]çXç_Ý ]c÷Ý É̀Ì[ý å]çc÷ç_Ý

5. What time does the clock show ?
H×QÍöäOôçTö ×Eõ]çX a]Ì̂  åVFÇ¾ç+ä$K÷ ?
H×QÍö×OôãTö åVFçãXç a]Ì̂  c÷_ -

(a) 5:15 (b)  2:25 (c) 3:25 (d) 3:20
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6. Barter system is practised in which of the following :
Tö_» åEõçXäOôç å]_çTö ×[ý×X]Ì̂  YÒUç YÒ$Jô×_Tö ?
×[ý×X]Ì̂  YÒUç åEõçX å]_çÌ[ý YÒWýçX é[ý×`rôî

(a) Jonbeel Mela (b) Ambubachi Mela (c) Raas Mela (d) Gandhi Mela
åLçX×[ý_ å]_ç %¶‘öÇ[ýç$JôÝ å]_ç »ça å]_ç GçµùÝ å]_ç
åLçX×[ý_ å]_ç %¶‘öÇ[ýçJôÝ å]_ç Ì[ýça å]_ç GçµùÝ å]_ç

7. Snake Venom is used by man as :
aYï×[ýbEõ ]çXÇãc÷ ×Eõ Eõç]Tö [ýî¾c÷ç» Eõã» ?
]çXÇb açãYÌ[ý ×[ýbãEõ ×Eõ EõçãL [ýî[ýc÷çÌ[ý EõãÌ[ý ?

(a) Food (b) Medicine (c) Cloth (d) All of these
FçVî aç]GÐÝ DbWý EõçãYç» %çOôç+ã[ýç»
FçVî aç]GÐÝ DbWý EõçYQÍö a[ý EõÌ̂ Oôç

8. The Capital of Myanmar :
]îçX]ç»» »çLWýçXÝ
]îçX]çãÌ[ýÌ[ý Ì[ýçLWýçXÝ

(a) Rangoon (b) Yangoon (c) Nayfyidaw (d) Hague
å»†ÇS +Ì̂ ç†ÇS åX×ZõVçC åc÷G
åÌ[ý†ÇS +Ì^ç†ÇX åXZõ×Ì[ýVçC åc÷G

9. The smallest river island of the World is ................
YÊ×U¾Ý» %çOôç+TöêEõ a»Ó XVÝ ¥ÝY c÷'_ ............
................ YÊ×U[ýÝÌ[ý a[ý»Jôç+ãTö æ»K÷çOô XVÝ ¥ÝY*

(a) Sundarban (b) Umananda (c) Majuli (d) Deeporbeel
aÇ³V»[ýX =]çX³V ]çLÇ_Ý ×VY»×[ý_
aÇ³VÌ[ý[ýX =]çX³V ]çLÇ_Ý VÝYÌ[ý×[ý_

10. Which of the following is different from the others :
Tö_» åEõçXäOôç %×]_ [ýç×$Jô =×_C¾ç f
%×]_ =wøÌ[ý×Oô å[ýä»K÷ XçC f

a) Independence Day b) Republic Day c) Army Day d) Gandhi Jayanti
Ø‘öçWýÝXTöç ×V¾a GSTöÜ—ö ×V¾a åaXç ×V¾a GçµùÝ LÌ̂ Ü™öÝ
Ø‘öçWýÝXTöç ×V[ýa GSTöÜ—ö ×V[ýa åaXç ×V[ýa GçµùÝ LÌ̂ Ü™öÝ

11. Which of the following is the longest Highway in Assam ?
Tö_» åEõçXäOôç %a]» VÝHïTö] »çrÑôÝÌ̂  Hç+YU ?
XÝä»JôÌ[ý åEõçX×Oô %aã]Ì[ý VÝHïTö] Ì[ýçrÑôÝÌ̂  YU ?

(a) NH 37 (b) NH 56 (c) NH 33 (d) NH 16
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12. "Lotus" is the National Flower of India. "Rose" is the National Flower of which country ?

YVÇ] ZÇõ_ \öç»Tö» »çrÑôÝÌ̂  ZÇõ_* åGç_çY ZÇõ_ åEõçX åV`» »çrÑôÝÌ̂  ZÇõ_ ?
\öçÌ[ýãTöÌ[ý Ì[ýçrÑôÝÌ̂  ZÇõ_ Y²¿* åGç_çY åEõçX åVã`Ì[ý Ì[ýçrÑôÝÌ̂  ZÇõ_ ?

(a) France (b) Britain (c) Pakistan (d) Sri Lanka
ZÐõç‡û [ýÊäOô+X Yç×EõØ™öçX Ò̀Ý_eEõç
ZÐõç³a ×[ýÐäOôX Yç×EõØ™öçX Ò̀Ý_áøç

13. Country Famous for " Samba"  Dance is :
$Jôç�öç - XÊTöî» [ýçã[ý åEõçX åV` ×[ýFîçTö ?
aç¶‘öç - Xçä»JôÌ[ý LXî å^ ãV` ×[ýFîçTö f-

(a) U.S.A (b) Brazil (c) France (d) South Africa
%çã]×»Eõç/%çã]×Ì[ýEõç» [ýÐç×L_ ZÐõç‡û/ ZÐõç³a V×lùS %ç×ZÐõEõç

14. M.S Dhoni is the Brand Ambassador of :
A] Aa åWýçXÝ åEõçX åEõç¶YçXÝ» ×[ýYXS YÒ×Tö×X×Wý ?
A] Aa åWýçXÝ åEõçX åEõç¶YçXÝÌ[ý ×[ýYXX YÒ×Tö×X×Wý ?

(a) Nokia (b) Samsung (c) Max (d) Pagaria
åXç×EõÌ̂ ç $K÷ç]$K÷çe ]îçj YçGç×»Ì̂ ç
åXç×EõÌ̂ ç aîç]açe ]îçj YçGç×Ì[ýÌ^ç

15. The inaugural match of the World Cup Cricket, 2011 was played in :
2011 $JôX» ×[ý`ŸEõçY ×yÔãEõOô» =ãàöçWýXÝ åF_FX Eõ'Tö %XÇ×œöTö éc÷×$K÷_ ?
2011 aãXÌ[ý ×[ý`ŸEõçY ×yÔãEõäOôÌ[ý =ã¥çWýXÝ ]îç»Jô åEõçUçÌ̂  %XÇ×œöTö c÷Ì̂  ?

(a) Mirpur (b) Colombo (c) Delhi (d) Bengaluru
$]Ý»YÇ»Tö Eõ_ã¶‘öçTö ×V{ÝTö [ýç†çã_ç»Ó
]ÝÌ[ýYÇãÌ[ý Eõ_ã¶‘öçãTö ×V{ÝãTö [ýçeGç_ÇÌ[ýÓãTö

16. Which of the following deserts is in India
Tö_» åEõçX ]»Ó\Éö×] \öç»TöTö %¾×ØšöTö ?
XÝä»JôÌ[ý åEõçX×Oô ]Ì[ýÓ\Éö×] \öçÌ[ýãTö %[ý×ØšöTö ?

(a) Gobi (b) Sahara (c) Thar (d) Atacama
åGç[ýÝ $K÷çc÷ç»ç U» %çOôçEõç]ç
åGç×[ý açc÷çÌ[ýç UÌ[ý %çOôçEõç]ç

17. The only "Sainik School" of Assam is in :
%a]» AEõ]çy éa×XEõ •Çõ_FX Eõ'Tö ?
%çaçã]Ì[ý AEõ]çy éa×XEõ •Çõ_ åEõçUçÌ̂  %[ý×ØšöTö ?

(a) Bongaigaon (b) Sivasagar (c) Goalpara (d) Jorhat
[ý†ç+GçCg ×`¾açG» åGç¾ç_Yç»ç å^ç»c÷çOô
[ý†ç+GçCg ×`[ýaçGÌ[ý åGçÌ̂ ç_YçQÍöç å^çÌ[ýc÷çOô
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18. MASCOT of  Delhi Commonwealth Games 2010 was :

2010 Tö ×V{ÝTö %XÇ×œöTö åc÷ç¾ç Eõ]Xã¾_U åG]$K÷» £\öáø» ×Eõ %ç×$K÷_ ?
2010 aãXÌ[ý ×V{Ý Eõ]XCãÌ̂ _U åG]ãaÌ[ý £\öáøÌ[ý ×»K÷_ ................
(a) Appu (b) Shera (c) Langur (d) None of these

%ç´YÇ å`Ÿ»ç [ýç³V» AOôçC Xc÷Ì^
%ç´YÇ å`Ì[ýç [ýçXÌ[ý AEõ×OôC XÌ^

19. Which one is not a product of "Hero Honda" :
Tö_» åEõçXäOôç ×c÷ã»ç åc÷ç‰øç» =dYç×VTö aç]GÐÝ Xc÷Ì̂  ?
XÝä»JôÌ[ý åEõçX×Oô ×c÷ãÌ[ýç c÷‰øçÌ[ý AEõ×Oô ]ãQö_ XÌ̂  ?
(a) Glamour (b) Platina (c) CBZ (d) Karizma

æGÀ]ç» YÀç×OôXç ×$K÷×[ý×L Eõ×»L]çö
æGÀ]çÌ[ý YÀç×OôXç ×a×[ý×L Eõ×Ì[ýL]ç

20. Which of the following statement is false ?
Tö_» åEõçXäOôç =×Nþ ×]$K÷ç ?
XÝä»JôÌ[ý åEõçX =×Nþ×Oô ×]Uîç ?

(a) My father died before my birth (b) My mother died before my birth
å]ç» LX½» %çGãTö åV=Töç» ]ÊTÇöî éc÷×$K÷_ å]ç» LX½» %çGãTö+ ]ç» ]ÊTÇöî éc÷×$K÷_
%ç]çÌ[ý [ýç[ýç ]çÌ[ýç ^çX %ç]çÌ[ý LãX½Ì[ý %çãG %ç]çÌ[ý ]ç ]çÌ[ýç ^çX %ç]çÌ[ý LãX½Ì[ý %çãG

(c) My grandpa died before my birth (d) My grandma died before my birth
å]ç» LX½» %çGãTö+ EõEõçãV=Töç» ]ÊTÇöî éc÷×$K÷_ å]ç» LX½» %çGãTö+ %ç+Töç» ]ÊTÇöî éc÷×$K÷_
%ç]çÌ[ý VçVÇ ]çÌ[ýç ^çX %ç]çÌ[ý LãX½Ì[ý %çãG %ç]çÌ[ý PöçEÇõ]ç ]çÌ[ýç ^çX %ç]çÌ[ý LãX½Ì[ý %çãG

21. Dabaang is the debut film of :
Qö[ýçe EõUç$K÷×[ýTö åEõçX %×\öãXyÝãÌ̂  YÒU] %ç±ÁYÒEõç` Eõ×»×$K÷_ ?
V[ýçe »K÷×[ýãTö åEõçX %×\öãXyÝ YÒU] %ç±ÁYÒEõç` EõãÌ[ýX ?
(a) Anushka Sharma (b) Sonam Kapoor (c) Sonakshi Sinha (d) Raima Sen

%XÇ•õç ̀ ]ïç å$JôçX] EõçYÇ» æ$K÷çXçlùÝ ×aXc÷ç »ç+]ç åaX
%XÇ•õç ̀ ]ïç åaçX] EõçYÇÌ[ý åaçXçlùÝ ×aXc÷ç Ì[ýç+]ç åaX

22. "Daag ache hain" is a punch line related with which Detergent :
""VçG %çä¬K÷ c÷îçÌ̂ '' æ`ÀçGçX åEõçX EõçãYç» åWýç¾ç YçCQöç»» _GTö L×QÍöTö ?
""VçG %ä¬K÷ cg÷îçÌ̂ '' A+ _ç+X×Oô åEõçX ×QöOôçÌ[ýãLä³OôÌ[ý açãU L×QÍöTö ?
(a) Tide (b) Ariel (c) Wheel (d) Surf Excel

Oôç+Qö A×»ãÌ̂ _ §+_ $K÷çZïõ Aãj_
Oôç+Qö A×Ì[ýãÌ̂ _ §+_ açZïõ Aãj_

23. MRP in a product stands for :
åEõçãXç aç]GÐÝTö ×_Fç MRP (A]. %ç». ×Y.)åÌ̂  ×Eõ aÉ$JôçÌ̂
åEõçãXç aç]GÐÝãTö MRP ]çãX ×Eõ ?ô
(a) Model retail price (b) Maximum retail price (c) Minimum retail price (d) Market retail price

]ãQö_ (YÒ×TöEõÝ) FÇ$$JÇô»ç Vç] aã[ýïç¬Jô FÇ$JÇô»ç Vç] a[ýï×X¶oö FÇÅ$JÇô»ç Vç] [ýLç» FÇÅ$JÇô»ç Vç]
]ãQö_ (YÒ×TöEõÝ) FÇ»JôÌ[ýç Vç] aã[ýïç¬Jô FÇ»JôÌ[ýç Vç] ×X¶oöTö] FÇ»JôÌ[ýç Vç] [ýçLçÌ[ý FÇ»JôÌ[ýç Vç]
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24. Dadra is a :
VçV»ç ×Eõ ?
VçVÌ[ýç c÷_ ................
(a) Railway Station (b) Musical Instrument (c) Raga (d) A festival

å»_Cã¾ ærô$JôX [ýçVî ̂ Ü—ö `çØ—öÝÌ̂  »çG A×Oô =da¾
åÌ[ý_CãÌ̂  æºOô`X [ýçVî ̂ Ü—ö `çØ—öÝÌ̂  Ì[ýçG AEõ×Oô =da[ý

25. "Richter Scale" is used to measure the intensity of :
×»FOôç» å•õ_ ×Eõc÷» YÒç[ý_î å^çFç» [ýçã[ý [ýî¾c÷ç» Eõ»ç c÷Ì̂  ?
"×Ì[ýFOôçÌ[ý å•õ_' ×Eõ ]çYçÌ[ý LXî [ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì̂  ?
(a) Volcanoes (b) Light energy (c) Earthquake (d) Storms

%çäGÂÌ̂ ×G»Ý %çã_çEõ`×Nþ \Éö×]Eõ¶Y WýÇ]Çc÷ç
%çäGÂÌ^×G×Ì[ý %çã_çEõ`×Nþ \Éö×]Eõ¶Y TÇöZõçX

26. India falls in……………… Climatic zone :
\öç»Tö[ýbï åEõçX L_[ýçÌ̂ Ç %‡û_» %Ü™öGïTö ?
\öçÌ[ýTö åEõçX L_[ýçÌ̂ Ç %‡ûã_Ì[ý %Ü™öGïTö ?
(a) Equatorial (b) Monsoonal (c) Mediterranean (d) Tundra

×[ýbÇ[ýÝÌ^ å]ì$JÇô]Ý \Éö]Wýî açG»ÝÌ̂ TÇö³VÐç
×XÌ[ýlùÝÌ^ å]ìaÇ]Ý \Éö]Wýî açGÌ[ýÝÌ̂ TÇö³VÐç

27. Which of the following is called primary colour :
Tö_» åEõçXäOôç YÒçU×]Eõ »e ?
XÝä»JôÌ[ý åEõçX×Oô YÒçU×]Eõ Ì[ýe ?
(a) Red, blue, green (b) Red, blue, yellow (c) Red, green, black (d) Blue, green, yellow

»Iøç, XÝ_ç, åa=LÝÌ̂ ç »Iøç, XÝ_ç, c÷ç_WýÝÌ̂ ç »Iøç, åa=LÝÌ̂ ç, Eõ_ç XÝ_ç, åa=LÝÌ̂ ç, c÷ç_WýÝÌ^ç
_ç_, XÝ_, a[ýÇL _ç_, XÝ_, c÷_ÇV _ç_, a[ýÇL, Eõçã_ç XÝ_, a[ýÇL, c÷_ÇV

28. 'Dove' soap is a product of :
"Qöç\ö' Xç]» $Jôçã[ýçX ×[ýWý Eõç» ¥ç»ç =dYç×VTö ?
"Qöç\ö' aç[ýçX EõçÌ[ý =dYç×VTö aç]GÐÝ ?
(a) Godrej (b) Procter & Gamble (c) ITC (d) Hindustan Unilever

åGçVã»L æYÒçkôç» A‰ø åG¶‘ö_ %ç+.×Oô.×$$Jô. ×c÷³VÇØ™öçX +=×X×_\öç»
åGçQöãÌ[ýL æYÒçkôçÌ[ý A‰ø åG¶‘ö_ %ç+.×Oô.×a. ×c÷³VÇØ™öçX +=×X×_\öçÌ[ý

29. The Book " Discovery of India" is written by :
"×Qöã•õç\öç»Ý %¾ +×‰øÌ̂ ç'» »$Jô×Ì^Töç åEõçX ?
..................... "×Qöã•õç\öçÌ[ýÝ %[ý +×‰øÌ̂ ç' AÌ[ý å_FEõ*
(a) Indira Gandhi (b) Pt. Jawaharlal Nehru  (c) Mahatma Gandhi (d) Abul Kalam Azad

+×³V»ç GçµùÝ Y×‰øTö L¾çc÷»_ç_ åXc÷»Ó ]c÷ç±Áç GçµùÝ %ç[ýÇ_ Eõç_ç] %çLçV
+×³VÌ[ýç GçµùÝ Y×‰øTö Lc÷CÌ[ý_ç_ åXc÷Ì[ýÓ ]c÷ç±Áç GçµùÝ %ç[ýÇ_ Eõç_ç] %çLçV
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30. Which part of the plant produces food :
=×àöV» åEõçX %e`+ FçVî YÒØ™ÇöTö Eõã» ?
=×àöãVÌ[ý åEõçX %e` FçVî YÒØ™ÇöTö EõãÌ[ý ?
(a) Leaves (b) Stem (c) Root (d) All of these

YçTö Eõç‰ø ×`Yç %çOôç+ãEõ+Oôç
Yy Eõç‰ø ]É_ a[ý EõÌ̂ Oôç

General Science / açWýç»S ×[ýpûçX / açWýçÌ[ýS ×[ýpûçX

31. The bodies of living things contain more amount of ..........
LÝ¾ åVc÷Tö %×WýEõ Y×»]çS» ....................... UçãEõ*
LÝ[ý åVãc÷ %×WýEõ Y×Ì[ý]çãS .................. UçãEõ*

a) bones b) oxygen c) water d) blood
c÷çQÍö %×jãLX YçXÝ åTöL
c÷çQÍö %×jãLX L_ Ì[ýNþ

32. To survive, all plants need ..................
LÝÌ̂ ç+ Uç×Eõ[ýê_ aEõã_ç =×àöVEõ ........................ » YÒãÌ̂ çLX*
=×àöãVÌ[ý [ýç×»JôÌ̂ ç UçEõçÌ[ý LXî .................AÌ[ý VÌ[ýEõçÌ[ý*
a) roots, leaves and stems b) light, soil and nutrients

×`Yç, YçTö %ç»Ó Eõç‰ø åYçc÷», ]ç×Oô %ç»Ó YÇ×rô
]É_, YçTöç C Eõç‰ø %çã_ç, ]ç×Oô C YÇ×rô

c) food, water and air d) eyes, nose and ears
FçVî, YçXÝ %ç»Ó [ýçÌ̂ Ç $JôEÇõ, XçEõ %ç»Ó EõçS
FçVî, L_ A[ýe [ýçÌ̂ Ç æ»JôçF, XçEõ A[ýe EõçS

33. Which of the following is a completely aquatic animal :
Tö_» åEõçXäOôç a¶YÉSï»ÖãY L_$Jô» YÒçSÝ ?
XÝä»JôÌ[ý åEõçX×Oô a¶YÉSïÌ[ýÖãY L_»JôÌ[ý YÒçSÝ ?

a) b) c) d)

34. Plants can make food without ..................
=×àöãV ............. åXçãc÷ç¾çêEõ FçVî éTöÌ̂ ç» Eõ×»[ý Yçã»*
=×àöV ............ »K÷çQÍöç FçVî YÒØ™ÇöTö EõÌ[ýãTö YçãÌ[ý*
a) Sunlight b) chlorophyl c) fertilizers d) water

aÉ̂ ï» åYçc÷» zõ'»'×Zõ_ aç» YçXÝ
aÉã^ïÌ[ý %çã_ç Yyc÷×Ì[ýd açÌ[ý L_
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35. Which of the following performs photosynthesis in Cactus ?
åEõEËõOôçä$K÷ ×Eõc÷» ¥ç»ç açã_çEõ aeä`ÀbS YÒ×yÔÌ̂ ç a¶Y~ Eõã» ?
XÝä»JôÌ[ý åEõçX×Oô ¥çÌ[ýç EõîçEõOôça açã_çEõ aeä`ÀbS YÒ×yÔÌ̂ ç a¶Y~ EõãÌ[ý ?
a) Spines b) Stem c) Roots d) None of these

Eõçg+Oô Eõç‰ø ×`Yç AOôçC Xc÷Ì^
EõçOôç Eõç‰ø ]É_ AEõ×OôC XÌ^

36. Plants store extra food in the form of .....................
=×àöãV %×Tö×»Nþ FçVî .......................... ×c÷$JôçãY a‡ûÌ̂  Eõã»*
=×àöV %×Tö×Ì[ýNþ FçVî ............... ×c÷açã[ý a‡ûÌ̂  EõãÌ[ý*
a) Oxygen b) Carbon dioxide c) Chlorophyl d) Starch

%×jãLX Eõç[ýïX Qöç+ %jç+Qö zõ'»×Zõ_ `Eïõ»ç
%×jãLX Eõç[ýïX Qöç+ %jç+Qö Yyc÷×Ì[ýd `EïõÌ[ýç

37. Find the odd one out :
%×]_äOôç [ýç×$K÷ =×_C¾ç f
%×]_ =wøÌ[ý×Oô FÇãL XçC f

a) b) c) d)

38. Dolphin is .....................
Qö_×ZõX c÷'_  ...................
Qö_×ZõX c÷_ .....................
a) a mammal b) an egg laying animal

AOôç Ø™öXîYçÌ^Ý YÒçSÝ A×[ýWý EõSÝ Y»ç YÒçSÝ
AEõ×Oô Ø™öXîYçÌ̂ Ý YÒçSÝ AEõ×Oô ×Qö] YçQÍöç YÒçSÝ

c) a fish d) None of these
A×[ýWý ]ç$K÷ AOôçC Xc÷Ì^
AEõ×Oô ]ç»K÷ AEõ×OôC XÌ^

39. Animals need to reproduce to ....................
YÒçSÝEõ ......................... [ýçã[ý YÒLXX» YÒãÌ̂ çLX*
YÒçSÝÌ[ý .................. LXî YÒLXãXÌ[ý VÌ[ýEõçÌ[ý*
a) Maintain their number b) Increase their number

×XL» aeFîç [ýTöÛç+ »ç×F[ý» ×XL» aeFîç [ýÊ×ˆù Eõ×»[ý»
×XãLÌ[ý aeFîç [ýLçÌ̂  Ì[ýçFçÌ[ý ×XãLÌ[ý aeFîç [ýÊ×ˆùÌ[ý

c) Maintain the balance of nature d) All of these
YÒEÊõ×Tö» \öç»aç]î »lùç Eõ×»[ý» %çOôç+ãEõ+Oôç
YÒEÊõ×TöÌ[ý \öçÌ[ýaç]î Ì[ýlùçÌ[ý a[ýEõÌ^×Oô
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40. We breathe in oxygen from air and breathe out carbon di-oxide. Where does this carbon dioxide come from ?
%ç×] =`çc÷Tö [ýçÌ̂ Ç» Y»ç %×jãLX GÐc÷S Eõã»ç %ç»Ó ×X`çc÷Tö Eõç[ýïX Qöç+ %jç+Qö A×» ×VCg* A×» ×VÌ̂ ç Eõç[ýïX Qöç+ %jç+Qö ×F×X Eõ» Y»ç %çãc÷ ?
%ç]Ì[ýç ̀ Ÿça åXCÌ̂ çÌ[ý a]Ì̂  %×jãLX GÐc÷S Eõ×Ì[ý %çÌ[ý Eõç[ýïX Qöç+ %jç+Qö »K÷ç×QÍö* æ»K÷äQÍö åVCÌ̂ ç Eõç[ýïX Qöç+ %jç+Qö åEõçUç åUãEõ %çãa ?
a) From the blood b) From the bones c) From the heart d) From the kidneys

åTöL» Y»ç c÷çgQÍö» Y»ç c÷ÖV^Ü—ö» Y»ç [ýÊhõ» Y»ç
Ì[ýNþ åUãEõ c÷çQÍö åUãEõ c÷ÖV^Ü—ö åUãEõ [ýÊhõ åUãEõ

41. The function of hair inside our nose is to .............
%ç]ç» XçEõ» ×\öTö»Tö UEõç åXç]» Eõç] êc÷ä$K÷ ...............
XçãEõÌ[ý ×\öTöãÌ[ýÌ[ý å_çã]Ì[ý EõçL c÷_ ...........
a) Filter dirt particles b) Control the amount of air going in

WýÉ×_EõSç Y×»`Òç¾S Eõ»ç =`çc÷Tö GÐc÷S Eõ»ç [ýçÌ̂ Ç» Y×»]çS ×XÌ̂ Ü—öS Eõ»ç
WýÉ×_EõSç Y×Ì[ý Ò̀ç[ýS EõÌ[ýç `Ÿçãa GÐc÷S EõÌ[ýç [ýçÌ̂ ÇÌ[ý Y×Ì[ý]çS ×XÌ̂ Ü—öS EõÌ[ýç

c) Make it look beautiful d) None of these
åaì³V^ïî [ýWýïX Eõ»ç AOôçC Xc÷Ì^
åaì³V^ïî [ýWýïX EõÌ[ýç AEõ×OôC XÌ^

42. Which of the following has the highest amount of energy in them ?
Tö_» åEõçXäOôçTö %çOôç+TöêEõ å[ý×$K÷ ̀ ×Nþ ×X×c÷Tö éc÷ UçãEõ ?
XÝä»JôÌ[ý åEõçX×OôãTö a[ý»Jôç+ãTö å[ý`Ý ̀ ×Nþ ×X×c÷Tö %çä»K÷ ?
a) Carbohydrates b) Fats c) Minerals d) Vitamins

Eõç[ýïc÷ç+äQÎöOô $Jô[ýÞ F×XL _¾S ×\öOôç×]X
Eõç[ýïc÷ç+äQÎöOô »Jô×[ýï F×XL _[ýS ×\öOôç×]X

43. How does digestion take place in the small intestine ?
lÇùVÐçÜ—öTö FçVî åEõãXêEõ Yç$JôX c÷Ì̂  ?
lÇùVÐçÜ—öãTö FçVî Yç»JôX ×Eõ \öçã[ý c÷Ì̂  ?
a) By crushing of food b) By the release of juices

FçVî m×» Eõ×» Yç$JôEõ »a ×Xfa»S Eõ×»
FçVî »JÉôSï EõãÌ[ý Yç»JôEõ Ì[ýa ×XfaÌ[ýS EõãÌ[ý

c) By cutting of food d) By heating and boiling
FçVî Eõç×Oô åY_ç+ G»] %ç»Ó ×aLç+
FçVîãEõ åEõäOô ×VãÌ̂ GÌ[ý] A[ýe åaˆù EõãÌ[ý

44. Fill in the blank (Fç×_ Pöç+ YÉSï Eõ»ç / Fç_Ý ØšöçX YÉSï EõÌ[ý)

Starch (`Eïõ»ç / ̀ EïõÌ[ýç ) ............................

a) Fat b) Vitamin c) Sugar d) Salt
$Jô[ýÞ ×\öOôç×]X æ$JôXÝ ×X]F
»Jô×[ýï ×\öOôç×]X ×»Jô×X _[ýX

saliva / _ç_×Oô / _ç_ç
enzymes / =dåa$JôEõ

Create PDF files without this message by purchasing novaPDF printer (http://www.novapdf.com)

http://www.novapdf.com
http://www.novapdf.com


(9)
45. ORS after preparation should not be stored for more than ................ hours.

ORS YÒØ™ÇöTö Eõ»ç» ×Y$K÷Tö ....................... H³OôçTöêEõ å[ý×$K÷ a]Ì̂  »ç×F[ý Xç_çãG*
ORS YÒØ™ÇöTö EõÌ[ýçÌ[ý YÌ[ý  ......................  H³OôçÌ[ý æ»JôãÌ̂  å[ý`Ý a]Ì̂  Ì[ýçFãTö _çãGXç*
a) 12 b) 24 c) 36 d) 48

46. Which of these diseases spread through infected food and water ?
Tö_» åEõçXäOôç å»çG VÇ×bTö FçVî %ç»Ó YçXÝ» ¥ç»ç ×[ýÌ̂ ãY ?
XÝä»JôÌ[ý åEõçX åÌ[ýçG VÉ×bTö FçVî A[ýe Lã_Ì[ý ¥çÌ[ýç »K÷QÍöçÌ̂  ?
a) Cholera b) Typhoid c) Common Cold d) Both 'a' and 'b'

Eõã_»ç Oôç+ZõãÌ̂ Qö YçXÝ _Gç a %ç»Ó b =\öãÌ̂
Eõã_Ì[ýç Oôç+ZõãÌ̂ Qö a×VÛ a A[ýe b =\öãÌ̂

47. Jute fibre is obtained from which part of the plant ?
]»çYçOô %çgc÷ G$K÷ãLçYç» åEõçX %e`» Y»ç %çc÷»S Eõ»ç c÷Ì̂  ?
YçäOôÌ[ý aÉTöç Gçä»K÷Ì[ý åEõçX %e` åUãEõ %çc÷Ì[ýS EõÌ[ýç c÷Ì̂  ?
a) Leaves b) Seeds c) root d) Stem

YçTö [ýÝL ×`Yç Eõç‰ø
YçTöç [ýÝL ]É_ Eõç‰ø

48. Clothes do not protect us from ...................
EõçãYçã» %ç]çEõ ..................» Y»ç »lùç XEõã»*
EõçYQÍö %ç]çãVÌ[ýãEõ ................ åUãEõ Ì[ýlùç EõãÌ[ý Xç*
a) Heat b) Cold c) High blood pressure d) Dust and germs

TöçY Lç» =¬Jô »Nþ $JôçY WýÉ×_ %ç»Ó [ýÝLçSÇ
TöçY `ÝTö =¬Jô Ì[ýNþ »JôçY WýÉ_ç A[ýe [ýÝLçSÇ

49. In some houses wire netting is fitted in doors and windows. This is done to ............
×Eõ$KÇ÷]çX H»» VÇ¾ç», ×F×»EõÝTö Töçg»» Lç_ _ãGç¾ç UçãEõ* A+ Lç_» [ýçã[ý .................
×Eõ»KÇ÷ ×Eõ»KÇ÷ HãÌ[ýÌ[ý VÌ[ýLç C LçXç_çãTö TöçãÌ[ýÌ[ý Lç_ _çGçãXç UçãEõ* A+ Lçã_Ì[ý LXî ..............
a) Prevent people from peeping b) Give the house a nice look

]çXÇãc÷ H»FXEõ [ýç×c÷»» Y»ç LÇ×]$ Jôç[ý åXç¾çã» H»FXEõ WýÇXÝÌ̂ ç åVFç ̂ çÌ^*
å_çãEõÌ[ýç HãÌ[ýý =ð×Eõ ]çÌ[ýãTö YçãÌ[ý Xç HÌ[ýmã_çãEõ aÇ³VÌ[ý åVFç ̂ çÌ̂

c) Keep mosquitoes and flies away d) All of the above
]c÷ %ç»Ó ]ç×F ×\öTö»ê_ åaç]ç[ý åXç¾çã» CY»» %çOôç+ãEõ+Oôç
]`ç C ]ç×»K÷ ×\öTöãÌ[ý å^ãTö YçãÌ[ý Xç a[ýEõÌ^×Oô

50. In which place would the weather remain almost the same the whole year ?
åEõçXäOôç %‡û_» [ýTö» YÒçÌ̂  åGçäOô+ [ý$K÷»äOôçTö AãEõ UçãEõ ?
åEõçX %‡ûã_Ì[ý %ç[ýc÷çCÌ̂ ç [ý»K÷ãÌ[ýÌ[ý a[ýa]ãÌ̂  AEõ+ UçãEõ ?
a) On a hill station b) Near the coast c) Near a desert d) Near a river

Yçc÷ç»ÝÌ̂ ç %‡û_Tö =YEÉõ_ %‡û_Tö ]»Ó\Éö×] %‡û_Tö XVÝ UEõç %‡û_Tö
Yçc÷çQÍöÝ %‡ûã_ =YEÉõ_ %‡ûã_ ]Ì[ýÓ\Éö×] %‡ûã_ XVÝTöÝÌ[ý %‡ûã_
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51. Germs present in tap water can be killed by ...............
Eõ_» YçXÝTö UEõç [ýÝLçSÇ ............... W[ýea Eõ×»[ý Yç×»*
Eõã_Ì[ý Lã_ UçEõç [ýÝLçSÇ ................ ¥çÌ[ýç W[ýea EõÌ[ýç ̂ çÌ̂ *
a) Filtration b) Condensation c) Boiling d) Decantation

Y×» Ò̀ç¾S» ¥ç»ç HSÝ\ö¾X» ¥ç»çö =Tö_ç+ YçTöX» ¥ç»ç
Y×Ì[ýØƒöç[ýãSÌ[ý HSÝ\ö[ýãXÌ[ý ×aˆù %çØƒöç[ýãSÌ[ý

52. Which of the following is not a natural resource ?
Tö_» åEõçXäOôç YÒçEÊõ×TöEõ a¶YV Xc÷Ì̂ *
XÝä»JôÌ[ý åEõçX×Oô YÒçEÊõ×TöEõ a¶YV XÌ̂  ?
a) Water b) Forest c) Petroleum d) Plastic

YçXÝ [ýX åY®Ïô'×_Ì^ç] YÀç×rôEõ
L_ [ýX åY®Ïô×_Ì^ç] YÀç×rôEõ

53. Which of the following is / are in a liquid state normally ?
Tö_» åEõçXäOôç açWýç»SãTö Tö»_ %¾ØšöçTö åYç¾ç ^çÌ̂  ?
XÝä»JôÌ[ý åEõçX×Oô açWýçÌ[ýSTö TöÌ[ý_ %[ýØšöçÌ̂  YçCÌ̂ ç ̂ çÌ̂  ?
a) Water b) Petrol c) Mercury d) All of them

YçXÝ åY®Ïô'_ Yç»ç %çOôç+ãEõ+Oôç
L_ åY®Ïô_ YçÌ[ýV a[ýmã_ç

54. To do work, we need ..............
Eõç^ïî a¶YçVX Eõ×»[ýê_ ........................ » YÒãÌ̂ çLX*
Eõç^ï a¶YçVX EõÌ[ýçÌ[ý LXî ................. Ì[ý YÒãÌ̂ çLX*
a) Force b) Energy c) Hands d) Muscles

[ý_ `×Nþ c÷çTö åY`Ý

55. Utensils, scissors, needles etc. are made from ................
[ýç$JôX-[ýTöÛX, åEgõ$JôÝ, å[ýLÝ %ç×V ............. å» éTöÌ̂ ç»Ý*
[ýçaX, EgõçÅ×»Jô, aÉ+ YÒ\Êö×Tö .................Ì[ý ¥çÌ[ýç [ýçXçãXç c÷Ì̂ *
a) Metals b) Plastic c) Herbs d) Crops

WýçTÇö YÀç×rôEõ TÊöS `aî

56. E-mail means ........
+-ã]+_ ]çãX ...............

a) Easy mail b) Electronic mail c) Early mail d) Expanded mail
+×L å]+_ +ã_Eõ®Ïô×XEõ å]+_ %ç×_ï å]+_ AjYçXãQöQö å]+_
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57. Which of the following is not a part of the solar system ?
Tö_» åEõçXäOôç åaì»LGTö» %Ü™ö\ÉöÛNþ Xc÷Ì̂  ?
XÝä»JôÌ[ý åEõçX×Oô åaìÌ[ýLGãTöÌ[ý %Ü™ö\ÉöÛNþ XÌ^ ?
a) Earth b) Moon c) Jupiter d) Pole star

YÊ×U¾Ý $Jô³VÐ [ýÊc÷&×Tö WýÐÓ¾ Tö»ç
YÊ×U[ýÝ »»Jô³VÐ [ýÊc÷&×Tö WýÐÓ[ý TöçÌ[ýçý

58. Which of the following is the largest in terms of volume ?
Tö_» åEõçXäOôç» %çÌ̂ TöX %çOôç+TöêEõ QöçIø» ?
XÝä»JôÌ[ý åEõçX×OôÌ[ý %çÌ̂ TöX a[ý»Jôç+ãTö å[ý`Ý ?
a) 2000 cm3 (æ$K÷.×]3/åa.×]3) b) 20 cm3 (æ$K÷.×]3/åa.×]3) c) 20 ml (×].×_) d) 201 litre (×_Oôç»/ ×_Oôç Ì[ý)

59. Which of the following states of matter has the strongest forces of attraction between its molecules ?
YVçUï» åEõçXäOôç %¾ØšöçTö %çÜ™öf%çX×¾Eõ [ý_ %çOôç+TöêEõ å[ý×$K÷ ?
XÝä»Jô åVCÌ̂ ç YVçãUïÌ[ý åEõçX %[ýØšöçÌ̂  %çÜ™öf%çX×[ýEõ [ý_ a[ý»Jôç+ãTö å[ý`Ý ?
a) Solid b) Liquid c) Gas d) None

åGçOôç Tö»_ åGK÷ÝÌ^ AOôçC Xc÷Ì^
Eõ×PöX TöÌ[ý_ GîçaÝÌ^ AEõ×OôC XÌ^

60. Burning of fire needs .........................
LÇ+ L×_[ýê_ ........................ » %ç¾`îEõ*
%çmX L�×_Ì̂ ç UçEõçÌ[ý LXî .............. %ç[ý`îEõ*
a) Oxygen b) Carbon dioxide c) Nitrogen d) Water vapour

%×jãLX Eõç[ýïX Qöç+ %jç+Qö Xç+®Ïô'ãLX L_ÝÌ̂  [ýç¹Y*
%×jãLãXÌ[ý Eõç[ýïX Qöç+ %jç+ãQöÌ[ý Xç+®ÏôãLãXÌ[ý L_ÝÌ^ [ýçã¹YÌ[ý

General Mathematics / açWýç»S G×STö / açWýçÌ[ýS G×STö

61. Roman numeral for the greatest three digit number is ......................
Tö_» åEõçXäOôç å»ç]çX aeFîç+ ×Tö×XOôç %eEõ ×[ý×`rô %çOôç+TöêEõ QöçIø» aeFîçäOôç [ýÇLçÌ̂
XÝä»Jô åVCÌ^ç ×TöX %eEõ ×[ý×`rô a[ý»Jôç+ãTö [ýQÍö åÌ[ýç]çX aeFîç×Oô c÷_
a) IXIXIX b) CMIXIX c) CMXCIX d) CMIIC

62. How many times does the digit "1" appear in numbers from 1 to 100 ?
1 » Y»ç 100 é_ãEõ aeFîçã[ýç»Tö "1" %eEõäOôç ×Eõ]çXOôç %çäK÷?
1 åUãEõ 100 Y^ïÜ™ö aeFîçm×_ãTö '1' EõÌ̂ [ýçÌ[ý %çãa
a) 18ö b) 19  c) 20 d) 21

63.
10

4
23

11

5
23

*
7

23

The number that comes in the place of * is ................
* » Pöç+Tö [ý×c÷[ý _Gç aeFîçäOôç éc÷ä$K÷ ...........
* AÌ[ý ØšöçãX XÝä»JôÌ[ý åEõçX aeFîç [ýaçãXç ̂ çã[ý ?
a) 12 b) 13 c) 14 d) 20
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64. The product of place values of two '9's in 98091 is :
98091 Tö UEõç '9' VÇOôç» ØšöçXÝÌ̂  ]çX» YÉ»SZõ_ c÷'[ý ..............
98091 åTö UçEõç 9 VÇ×OôÌ[ý ØšöçXÝÌ̂  ]çãXÌ[ý mSZõ_ c÷ã[ý .........
a) 81 b) 81000 c) 8100000        d)  None of these A$RôOçC Xc÷Ì̂  / AEõ×OôC Xç

65. 999+999+999+999+999= ............... x 999
a) 999 b) 0 c) 1 d) 5

66. 21,734 - ........... = 1more than 20 thousand
21,734 - ............ =  20 c÷çLç»TöêEõ 1 å[ý×$K÷*
21,734 - ............ =  20 c÷çLçÌ[ý åUãEõ 1 å[ý×$K÷*
a) 20001 b) 20000 c) 11,733 d) 1733

67. Jadu put a number into the 'START' box of the sentence below :
^VÇãÌ̂  Tö_Tö ×VÌ̂ ç [ýçEõî» 'START' [ýçEõ$JôTö AOôç aeFîç \ö»çã_
^VÇ XÝä»Jô åVCÌ̂ ç [ýçãEõîÌ[ý 'START' [ýçãj AEõ×Oô aeFîç \öÌ[ýçã_ç

-10 -5 -5 = 20+7

                                START END
The 'END' number was 20. What number did Jadu put into the 'START' box ?
'END' » aeFîçäOôç 20 c÷Ì̂  åTöãÜ™ö ̂ VÇãÌ̂  'START' [ýçEõ$JôTö ×Eõ aeFîç \ö»ç+×$K÷_ ?
'END' AÌ[ý aeFîç×Oô ̂ ×V 20 c÷Ì̂ , Töã[ý ̂ VÇ [ýçãj ×Eõ aeFîç \öÌ[ýçã_ç ?
a) 20 b) 28 c) 35 d) 42

68. 3569 - 2689 + 9325 = ?
a) 10,205 b) 880 c) 12894            d)  None of these A$RôOçC Xc÷Ì̂  / AEõ×OôC Xç

69. How many 14's are there in 1246 ?
1246 Tö ×Eõ]çXOôç 14 %çä$K÷ ?
1246 A EõÌ̂ ×Oô 14 %çä»K÷ ?
a) 59 b) 69 c) 79 d)  89

70. 0 ÷ 100000 = .......................
a) 1,00,000 b) 0 c) Does not exist d)  None of these

a�ö¾ Xc÷Ì̂  / a�ö[ý XÌ̂ A$RôOçC Xc÷Ì̂  / AEõ×OôC Xç

71. Which of the following gives a quotient between 1300 and 1500 ?
Tö_» åEõçXäOôç» \öçGZõ_ 1300 %ç»Ó 1500 ]çLTö Uç×Eõ[ý ?
XÝä»JôÌ[ý åEõçX×OôÌ[ý \öçGZõ_ 1300 A[ýe 1500 AÌ[ý ]ãWýî UçEõã[ý ?
a) 48600 ÷ 30 b) 64500 ÷ 50 c) 58000 ÷ 40 d) 69600 ÷ 60
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72. What is the difference between the least common multiple and highest common factor of the numbers 8 and 12 ?

8 %ç»Ó 12 » G.aç.m. %ç»Ó _.aç.m.» YçUïEõî ×Eõ]çX ?
8 A[ýe 12 AÌ[ý G.aç.m. A[ýe _.aç.m.Ì[ý YçUïEõî EõTö ?
a) 28 b) 8 c) 4 d) 20

73. What is the sum when 11 is added to the next prime number ?
11 %ç»Ó Töç» Y»[ýwøÞ å]ì×_Eõ aeFîç» å^çGZõ_ ×Eõ]çX ?
11 A[ýe TöçÌ[ý YÌ[ý[ýTöÞ å]ì×_Eõ aeFîçÌ[ý å^çGZõ_ EõTö ?
a) 23 b) 13 c) 24 d) 25

74. What fraction of the whole figure does the unshaded portion represent ?
×$JôyäOôç» ×Eõ]çX %e` $K÷çgã» %ç[ýÊwø Xc÷Ì̂  ?
»K÷×[ý×OôÌ[ý EõTöOÇôEÇõ %e` »K÷çÌ̂ çÌ̂  %ç[ýÊTö XÌ̂  ?

a) 3
8

b) 3
4

c) 5
8

d) 4
7

75. How many one-fourths need to be added to 2 to make 4 ?
2 » _GTö ×Eõ]çXOôç AEõ $JôTÇöUïçe` å^çG Eõ×»ã_ å^çGZõ_ 4 c÷[ý ?
2AÌ[ý açãU EõTöOôç AEõ »JôTÇöUïçe` å^çG Eõ×Ì[ýã_ 4 c÷Ì̂  ?

a) 3 b) 4 c) 5 d) 7

76. Two-fifth of 10 km = .................... m
10 ×Eõ.×].» VÇ+ Y‡û]çe` = ............... ×].
10 ×Eõ.×].Ì[ý VÇ+ Y‡û]çe` = ............... ×].
a) 4 b) 400 c) 40 d) 4000

77. Which of the following is not true ?
Tö_» åEõçXäOôç aTöî Xc÷Ì̂  ?
XÝä»JôÌ[ý åEõçX×Oô aTöî XÌ^ ?
a) 0.4 + 0.4 + 0.4 = 1.2 b) 2.1 -1.11 = 0.99

c) 0.7 + 0.7 + 0.7 + 0.7 = 4 x 0.7 d) 0.36 ÷ 6 = 0.6

78. 7.1 + 20 + 16.39 = .....................

a) 17.30 b) 25.49 c) 43.49 d) 107.39

79. The monthly income of Raj is Rs. 7500, He spent  of that. How much did he save ?
»çLÇ» ]çãc÷EõÝÌ̂ ç %çÌ̂  7500 OôEõç Töçã»  %e` F»$Jô Eõ×»ã_, ×Eõ]çX OôEõç a‡ûÌ̂  Eõ×»[ý ?
Ì[ýçLÇÌ[ý ]ç×aEõ %çÌ̂  7500 OôçEõç* +c÷çÌ[ý %e` FÌ[ý»Jô EõÌ[ýã_, EõTö OôçEõç a‡ûÌ̂  c÷ã[ý*

a) Rs. 2600 OôEõç / OôçEõç b) Rs. 3900 OôEõç / OôçEõç c) Rs. 4500 OôEõç / OôçEõç d) Rs. 1600 OôEõç / OôçEõç
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80. How many days are there from 9th February, 2004 to 20th March, 2004 ?

2004 $JôX» åZõ[ýÐÓ¾ç»Ý ]çc÷» 9 Töç×»F Y»ç 2004 $JôX» ]ç$JôÛ ]çc÷» 20 Töç×»Fê_ ×Eõ]çX ×VX c÷[ý ?
2004 aãXÌ[ý åZõ[ýÐÓÌ̂ çÌ[ýÝ ]çãaÌ[ý 9 Töç×Ì[ýF åUãEõ 2004 aãXÌ[ý ]ç»JôÛ ]çãaÌ[ý 20 Töç×Ì[ýF Y^ïÜ™ö EõTö ×VX c÷Ì̂  ?
a) 45 b) 38 c) 40 d) 41

81. 38mm (×]×]) = ............ cm (æ$K÷.×].) / (åa.×].)
a) 0.38 b) 0.038 c) 3.8 d) 3.08

82. The standard unit of volumn or capacity is ..................
%çÌ̂ TöX [ýç Wýç»S lù]Töç» YÒç]ç×XEõ AEõEõ c÷_ ...................
%çÌ̂ TöX [ýç WýçÌ[ýS lù]TöçÌ[ý YÒç]×SEõ AEõEõ c÷_ .................
a) centimeter ($åK÷.×]./åa.×].) b) Litre (×_Oôç»/×_OôçÌ[ý) c) Millilitre (×].×_.) d) Kilogram (×Eõ.GÐç)

83. A .......... is a chord that passes through the centre of the circle
[ýÊwø» åEõ³VÐ ×[ý³VÇ» ]çãLã» å^ç¾ç Lîç Qöç_Eõ åEõç¾ç c÷Ì̂  ........................*
[ýÊãwøÌ[ý åEõ³VÐ×[ý³VÇÌ[ý ]Wýî ×VÌ̂ ç ̂ çCÌ̂ ç Lîç×OôãEõ [ý_ç c÷Ì̂  .............................*
a) Radius b) Chord c) Center d) Diameter

[ýîçaçWýï Lîç åEõ³VÐ [ýîça
[ýîçaçWýï Lîç åEõ³VÐ [ýîça

84. In the given figure, if all the points are joined, how many line segments will you get :
YÒVwø ×$Jôy» YÒ×TöäOôç ×[ý³VÇEõ aeã^çG Eõ×»ã_ ×Eõ]çXOôç å»FçF‰ø åYç¾ç ̂ ç[ý ?
XÝä»JôÌ[ý ×»JôäyÌ[ý YÒ×Tö×Oô ×[ý³VÇãEõ aeã^çG Eõ×Ì[ýã_ EõTöOôç åÌ[ýFçF‰ø YçCÌ̂ ç ̂ çÌ̂  ?

A B

C D

a) 8 b) 6 c) 4 d) 10

85. The edge of a book is a ...............
×EõTöçY» Eõçb éc÷ä$K÷ .........................*
[ý+ãÌ̂ Ì[ý YÒçÜ™ö c÷_ ...............................*
a) Line b) Point c) Ray d) Line segment

å»Fç ×[ý³VÇ »×`½ å»Fç F‰ø
åÌ[ýFç ×[ý³VÇ Ì[ý×`½ åÌ[ýFçF‰ø

86. ............. is expressed in Units of Length.
.................. Eõ éVHïî» AEõEõ ×c÷$JôçãY YÒEõç` Eõ»ç c÷Ì̂  ?
XÝä»JôÌ[ý åEõçX×OôãEõ éVãHïîÌ[ý AEõEõ ×c÷açã[ý YÒEõç` EõÌ[ýç c÷Ì̂  ?
a) Area b) Perimeter c) Boundary d) None of these

Eõç×_ Y×»aÝ]ç aÝ]ç A$RôOçC Xc÷Ì̂
Eõç×_ Y×Ì[ýaÝ]ç aÝ]ç AEõ×OôC XÌ^
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87. The lengths of all four sides of a ............... are equal.

..................... » $Jôç×»Oôç [ýç§» éVHïî a]çX*

................... Jôç×Ì[ý×Oô [ýç§Ì[ý éVHïî a]çX*
a) Square b) Rectangle c) Triangle d) None of these

[ýGï %çÌ^Tö ×Åy\ÉöL AOôçC Xc÷Ì^
[ýãGïÌ[ý %çÌ̂ TöãlùäyÌ[ý ×Åy\ÇöãLÌ[ý AEõ×OôC XÌ^

88. Find the perimeter of the following figure.
Tö_Tö ×VÌ̂ ç ×$JôyäOôç» Y×»aÝ]ç =×_C¾ç*
XÝä»Jô åVCÌ̂ ç ×»Jôy×OôÌ[ý Y×Ì[ýaÝ]ç [ýç×c÷Ì[ý EõÌ[ý*

100m (×].)
100m (×].)

100m (×].)100m (×].)

100m (×].)100m (×].) 100m (×].)
100m (×].)

a) 800 m (×].) b) 600 m (×].) c) 1200 m (×])    d)  None of these A$RôOçC Xc÷Ì̂  / AEõ×OôC Xç

89. 30 + 8
10

 + 0 + 7
1000

 = ..................

a) 30.807 b) 30.0807 c) 30.97 d) 30.870

90. Which of the following is an improper fraction ?
Tö_» åEõçXäOôç AOôç %YÒEÊõTö \öGÂçe` ?
XÝä»JôÌ[ý åEõçX×Oô AEõ×Oô %YÒEÊõTö \öGÂçe` ?

a)  b)  c) 23
22

d) 11
15

91. A prime number is .....................
AOôç å]ì×_Eõ aeFîç éc÷ä$K÷ ...............*
AEõ×Oô å]ì×_Eõ aeFîç c÷_ ...............*
a) an even number b) an odd number c) a composite number d) None of these

AOôç ̂ ÇG½ aeFîç AOôç %^ÇG½ aeFîç AOôç å^ì×GEõ aeFîç AOôçC Xc÷Ì^
AEõ×Oô ̂ ÇG½ aeFîç AEõ×Oô %^ÇG½ aeFîç AEõ×Oô å^ì×GEõ aeFîç AEõ×OôC XÌ^

92. 3
7

= 12
?

a) 21 b) 28 c) 35 d) 14

93. The number of 3 digit numbers formed by using the digits 1, 2, 3 are ........
1, 2, 3 %eEõ åEõ+OôçEõ [ýî¾c÷ç» Eõ×» .............. Oôç 3 Oôç %eEõ ×[ý×`rô aeFîç GPöS Eõ×»[ý Yç×»*
1, 2, 3 aeFîçmã_çãEõ [ýî[ýc÷çÌ[ý EõãÌ[ý ............... Oôç ×TöX %eEõ ×[ý×`rô aeFîç GPöX Eõ×Ì[ýãTö Yç×Ì[ý*

a) 6 b) 4 c) 2 d) 321
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94. In a triangle one angle is 65

0
 and anothers is 35

0
. What is the third angle ?

AOôç ×Åy\ÉöL» VÇOôç åEõçS» ]çY yÔã] 650 %ç»Ó 35
0 c÷ã_ TÊöTöÝÌ̂  åEõçSäOôç» ]çY ×Eõ]çX ?

AEõ×Oô ×Åy\ÉöãLÌ[ý VÇ×Oô åEõçãSÌ[ý ]çY yÔã] 650 A[ýe 350 c÷+ã_ý TÊöTöÝÌ̂  åEõçãSÌ[ý ]çY EõTö ?
a) 80

0
b) 90

0
c) 100

0
d) 45

0

95. The number 24 has ........... factors.
24 aeFîçäOôç» ............ Oôç =dYçVEõ %çä$K÷*
24 aeFîç×OôãTö ............ Oôç =dYçVEõ %çä»K÷*
a) 2 b) 4 c) 6 d) 8

96 3 = 3 + ...............

a)  b)  c)  d) 3

97. Which decimal number is same as  ?
åEõçXäOôç V`×]Eõ aeFîç » a]TÇö_î ?
åEõçX V`×]Eõ aeFîç AÌ[ý a]TÇö_î ?
a) 0.34 b) 0.51 c) 0.75 d)  3.4

98. (19 - 18 + 17 - 16 + 15 - 14 + 13 - 12 + 11 - 10) = .................

a) 124 b) 48 c) 5 d) 1

99. Express 40 minutes as a fraction of 2 hours :
40 ×]×XOô 2 H³Oôç» ×Eõ]çX %e` ?
40 ×]×XOô 2 H³OôçÌ[ý EõTö %e` ?
a)  b)  c)  d) 

100.What is the value of 4 minus negative 8 ?
4 ×[ýãÌ̂ çG @Sç±ÁEõ 8 » ]çX ×Eõ]çX ?
4 ×[ýãÌ̂ çG @Sç±ÁEõ 8 AÌ[ý ]çX EõTö ?
a) 12 b) 4 c) -12 d)  -4

XXX END XXX
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